
	
You are going to listen to a recording about an unpaid £10 bill for a curry. First you will have 45 
seconds to study the task below, then you will hear the recording twice. While listening, match 
the beginnings of the sentences (1-6) with the sentence endings (A-I). There are two sentence 
endings that you should not use. Write your answers in the boxes provided on the answer sheet. 
The first one (0) has been done for you.

After the second listening, you will have 45 seconds to check your answers.

	  

Honest curry

0 The story is about a person who admitted ___. 

1 This person asked the police ___.

2 The message to the police revealed that ___.

3 When trying to contact the owner, the police realized ___.

4 Due to reports in the media, ___.

5 When given the money, the restaurant owner was ___.

6 The Inspector thinks the event is remarkable as ___.



A if they could find the owner and give him 60 pounds 

B very surprised but still a bit angry

C someone knowing the owner came forward

D  absolutely stunned and thankful

E cheating somebody out of money

F the place had been destroyed

G if they had already been informed about the incident

H the incident had happened 13 years before

I nothing similar has ever happened to him before



Honest curry Von der Lehrperson auszufüllen
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